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How many ways can one fill a 3 X 3 square girl with nonnegative integers
such that no nonzero integer appears move that once in the same row or column
and the sum of the number in every row and column equals?

XA i L AR AN, AEL 2 R A 1R (1 S, R — RS AR =R

FA e XA ) AR

(21 H (i,7) RS 758 5 SINKS. £ (1, 7) HIRE p, id N
(i,J) = p-

BB T e KB 9 o, W4 <2 < 7.

(1) %o =70, 3 x 3BTRS r A7 (1< r <3).

SR # 2, BN, EEMA 7T HERAT 58] (IXEATHIEE 7 RS 0),
THE—i%, A 7, 5 r =2 F)F. BTbh, r=1,3.

Lo =30, B (1,4) = (2,7) = (3,k) =7, W 4, j, k 52& 1,2,300— N, tEi
A 3l =6 FhJTi.

Hor= 10, HTA IR, 7 IERAT IS A 2 4 0, AMEIHVE A
THATIIEIAT 1A 0 1 2 AR, AR B 3 FITRE: (16), (2.5),(3.4). X4
—MIEIE, K 2 D ARRHEAARE T AMT, A 2 MO, S AT th AR
PEANAE R AL, A ME— 5. R 9 x 3 x 2 = 54 Fiiy i,

(2) B =061, B3 x 3MBHIBEH s 6, [F LA, s =1,3.

Y s = 30, BTG 6,1,0 S 55 1474 31 = 6 Fif,
9 24T 2 FRYE, BB 3ATH 1 MUEE, IWIN 6 x 2 = 12 FiOTIA

s =10, H6H 9FITE, 6 rERTHIEE 2 #1572 0,1 K, £H
2 MR, WIHR A B HVIHECN o, b, ¢, d, ot o PRAERIAT ZIERIRA 1, d FfER
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ITHIEE O, WMa+b=a+c=6,b+d=c+d=T1.

bl (BLa AETE),b=c=6—a, d=a+ 1.

TR R A 2 Pl fE: a = 2,4, JEIE 9 x 23 = 72 Fh5ik.

(3) B o =5, %3 x 3R EHE ¢ A5, [ ERTH1, ¢ =1,3.

Mt = 30, BUISRATRAIERZ 5,2,0 FI—ANHEZ, LR 6 x 2 = 12 Fli5 k.

Mt =10 3H 6 F 9FIE 6 FIEMATIIE 2 #3572 0,2 WHEA, &FH
2 FhIEIE. WA A WIIEECN a,b, ¢, d, o o BTTERIATSERIAAS 2, d FT{ERIAT
HIEHEEG O, WMa+b=a+c=5b+d=c+d=T1.

bl (BLa AETE), b=c=5—a, d=a+2.

FHRARK HAH 1 FATRE: o = 1, BEIAE 9 x 22 = 36 A5 ik

(4) % o = 4B, WH 4 BB TR, BATEIIGE — 4 4

B OLATIN 4 3 FIREE, 28 24710 4 A 2 ML, 58 3 AT 4 AME— T
DL 46 3 x 2 =6Ff7ik

W 1AT HPASIEECN a,b, W a + b = 36 4 FATHE: (a,b) = (0,3),(1,2),

(2,1), (3,0).
MM 1AT)E, e IEEE— e, LA 6 x 4 = 24 o7k, Bnik
JAFE, L 6 + 54 + 124+ 72+ 12 + 36 + 24 = 216 Fh ik, 0

JUE ) AR ] B, (E ) B — S T, ) AR RSRE 2 PR e ) .
[ ] 272 E&H n, s, £nxniEEOENATRIE—AARY AEF/T
BINEAEERKBILS T 1R, BBTENNESEHNFHA s, FIER Z T TREH
MM Ty kT

Ko — MNEEIRKI A, 6— 8 n, s, WA RIREEBTTEMHECN q(n, s),
K g(n, s) BIFRIETEAH 2 N XE ).
FATAT LLZE B LAl S A 471
(611 Bs=1,2, 0 q(n,1) =q(n,2) =nl
PR b, s = 1,2 B % s R8BS IEEEEN A (B A &) RAME— 714,
M REAT RS H A — A s, HREE N 0.
B —ATH) s A n BTV, S 24T s A n — L FHOTYE, - HIRIG —1T
1) s AME—J77%, I q(n, s) = n!.
(&4 2] Hs =3 qg(n,3) = ki [CﬁAﬁ’“(k!)Q > (—j%)j] .
SEBB Sy T 0 J

www.nsmath.cn 2



Mn=10 BF q(1,3) = 1, FHRAKOL.

P > 2, M EER 3 =1+2, XA T EHZ DA 33T 0 K18, W
nxnWEAEEEL-EA3,M0<k<n.

Gk # 1, B0, n— 14 3 FrERAT 551 (IXLATHHE 3 KIEERZ 0),
T FME—H%, RERE 3, SHBRA n— 113 F)E. FibL k=0,2,3,-

B k=0, BT RIEHE A 3, W TH 3T (4, ay) (1 <i<
n), M ay,ag, - ,a, & 1,2, ,n W—NHF, NITE ! FhiEzk.

Y2 <k <nW MEHn—kMTEn—kEMIBE A 3.

Wn— kA 3MTH (png) (1<i,j <n—k), WEH p1,pa, -+, pp_y 1XLE
ITH CE Pk W g, a0, - Gy IXEEH, FF5 propo, - puok F5HC, A AR
5%

Zpsin— kA 3 FERAT 551 (LIEBER 0 E F 3 HIEEE N 0), 1 F B4
BT kAT K BIZE XS k x kS il 8oy M,

U My B BRI — A 1, — 28 n — 2 4 0. B H T EEON
f(k),

q(n,3) _n'+chA" k (k)

TR (k). B My HH EAS TALTHRE (w) (1<i < k), W ug, ug, - up
21,2,k =N A R Rk

P M, 0 kA 2 6T A (o) (1< 0 < k)W oy # g, TARE v, om0
e, 0GR, B D) = b 3 S K Fib)

— (k)2

i

i1

n k
—1)
q(n,3):n!+z CFAPF (k) QZ
k=2

J=0 J:

HEE f(k) = (k)? fj U7 g £(0) = 1, £(1) = 0, AT BT &R

=0

n k 1 -_
o k pn—k 2

q(n,3) = CrA (k) Z Tl O

k=0 L j=0 i
[ FE AT,

n [ k (_1)]-_

aln ) = Y |Char Y
k=0 L 7=0 ]
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B s > 5, K q(n,s) FIRIEAG AL KHIHERE, IR s = 5 B%Re:
q(n,5), WA H.

SEhr b, B 5 =1+4 =24 3, B IREA 5 KT HIH, W REE T17 51
P& AR FRHUE 14, A TATHI & EREOE 2,3 € p MTHIE 5, ¢ MTIIE
L4, r MTHIE 2,3, PHEAH S8, SO, Sudk Rk ARy B 4

Q1 2 1A R 57— AN B s = ) 3 ) R — AR

[ R 1) ¥ 1,2, nEAnxnBEGENFTE BEITHEDNHR
1,2,--- ,n 89—ANHEF] %) Jrik?

R AT A MR 2y TRA. N RAS R IR T T AR, A5 21 [a] R 5 — b
BRI, FATIRZ I3 m—BrFE L HES.

S GV ALHE A 2 x n MLELRAEIR: K a1, a0, - -+, an AN 1 xon 1AL,
BN TIA% — A H SRR ERLEE N I — AT AL 2 x nALEE, K g, a0, an
FENBEINAIAT 0, AE 2 x n AR AES OECE 57, BATTRRIG IAT FIREON S —ATIH
HrEE AL HES .

HIE, AURE S AL HES I 21— U .

[ZR2) ¥a,a0, - ,an BEAMxn E HANFTHR A LbH—
A a1, a0, -+ ,a, 9—NHEP], BEFNOREF REAEMAET 73 m—HFE
Ao(m+1) xn & B ay, a0, a0, BAIERGTF 42 (m+1) xn &S
PV AR E -, RAVARIG Ao AT A9 A AT @ om AT R A HE ) B AR m— T A
{2 HEF).

AR, T—Wr e AL R, s 8 s A ).
XHER 1 <m <n—1,1c m—FrEAL 71 KN 08 D(m,n), WZAEN
D(1,n) = n! i (_kl')k
k=0
BUAEM R, X 2 <m <n— 1, BEF R D(m,n) FRIEZ?
B2 m = 2 BPETE, LA A S RS, B ARG R, J1ARe &, Rk
HE Wk, HEARERAEEER.
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